[bookmark: _GoBack]Maths – 04.01.21 
Try these questions. The answers are attached at the bottom, try not to peek until you’re finished!
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ANSWERS 
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6. Calculate (7482 - 5142) + (371 - 306).
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7. Acar dealer sells 35 identical cars in a month.
Each car sells for £8775.
How much did the car dealer sell the cars for in total?
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8. The lowest common multiple of two 2-digit numbers is 54.
What are the two 2-digit numbers?
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9. Calculate 735 x 4.6.
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10. Find the missing number in this calculation.

(35 + )+5=756
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11. Dinesh works out 3526 x 86.
i) Complete this calculation.

Write out a calculation using an inverse operation that Dinesh could
use to check his answer.
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12. Fillin the missing sign <, > or =

-()] |5





image13.png
13. In this tower, two numbers next to each other are multiplied to give the
number above them.

40
5 8

The same rule is used for this tower.
Fill in the missing numbers.
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14. Round each of these numbers to the nearest whole number to find an
estimated answer.
130.17 x 49.78
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1. Calculate 6721 x 36.
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2. 851+23=7?
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3. A factory makes 8750 biscuits an hour.
The biscuits are put into boxes of 40 biscuits.
How many full boxes will there be after one hour?
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. Draw a route through this maze by shading squares.

You can only move horizontally or vertically.
You can only shade prime numbers.

Start | 23 | 57 | 69 | 32 | 48

79 | 28| 94| 49 |33

41|59 | 47139 | 93

49 | 87|89 61|53

T4 | 77| 95| 24 | 71 |End
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5./ all the correct statements.

42 is a multiple of 6.

6 is a multiple of 42.

42'is a factor of 6.

6 is a factor of 42.

42 is a factor of 42.





